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01 At 22l 11,980 11,980 0
O el 11,980,000 11,980
02 =24l 880,000 841,600 38,400
O Z3RRSLMA 880,000
cJl28 ,2¢S MIIRS 450,000,000& 450,000
o ESCOALY & &hoH 33,333,300 128 400,000
oFE~MEEHW Z2AXHE AMLEH KX
30,000,000& 30,000
206 M= Hl 125,000 115,000 10,000
01 2l 125,000 115,000 10,000
ONRE BASHHTYRTL  100,000,0008 100,000
OMFME HHMHD HEXY SIPLYITRY
25,000, 000& 25,000
401 Al BIZ 201 8] 425,000 745,840 A 320,840
01 A& HI 425,000 745,840 A 320,840
oJtzs d4 100,000, 000& 100,000
oxitzs ole 30,000, 000& 30,000
oEBSSsS M4 100,000, 000& 100,000
oSS 04 15,000, 000& 15,000
OH&eE Z=uxH 30,000,000 30,000
oOk=® 28 WA 50,000,000 50,000
O=Eos 2e=+4Hl 50,000,000& 50,000
OdZHw F&2XxYH B 20,000,000& 20,000
ONZS ABEH(2E35H, AFHD, &4
ZHW) 30,000,000& 30,000
HRaes (M2t ) (SSEHMLHH /TSR - ele?]) 801,000 780,000 21,000
HEAHHX = 373,000 338,000 35,000
I3EES 373,000 338,000 35,000
702 JIS¥ES 373,000 338,000 35,000
(PIE=RSE—= 373,000 338,000 35,000
OM:t2el =z 373,000,000& 373,000
SHEXNE 428,000 442,000 A 14,000
EHZ"OSILIOH TS At 428,000 442,000 A 14,000
311 X+ 201 Xk &k & 28,000 42,000 214,000
02 Al - T - FXNENLII XL =0l AHabg 28,000 42,000 A 14,000
OEHZS"0l/LIOt" Tl = bl 28,000,000& 28,000
601 XtL S A= 400,000 400,000 0
02 Al -2 - FXNENLI) L4 400,000 400,000 0
OEHZS"0ILIOH" I oH = 7 bl 400,000,000 400,000
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1Y 04 ¢
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MO0 Mo &

HI (XH 221 D) (D1 EF/ DI EF)

02 02 ™
(O]
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=5

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HY2FZ (M2l ) (O1EH/JIEH) 105,382 104,125 1,257
ol 2 gl 24,062 22,805 1,257
ol 2A| 24,062 22,805 1,257
101 @124l 24,062 22,805 1,257
03 RIHAZ 2T E+ 24,062 22,805 1,257
O1200I S0 MEAH (1Y) 24,062
S == 1,354,310& 122 16,252
o Z A GAH| 100,000& = 12& 1,200
oJ|g=d 1,454,310& *380% 5,527
o H A F I 300,000& »23l 600
o Al2Hel =& 9,650 *50A| 2¢ 483
JlE3l 81,320 81,320 0
JlE2&l 81,320 81,320 0
201 L2l 8,000 8,000 0
01 At 22l 8,000 8,000 0
O g+t 5,000,000 5,000
o=l 3,000,000& 3,000
202 Oddl 69,120 69,120 0
01 = LH o4 4l 69,120 69,120 0
O2UEZ 0 240,000 & x24H 12 69,120
203 YR =2l 4,200 4,200 0
04 FN2EHSFAH 4,200 4,200 0
ORNEZ2Y HRF=&HI 350,000& »12& 4,200




